3. Prozentwert berechnen Name

Von 500 km sind 10 km =

Von 600 km sind 18 km =

Von 400 km sind 20 km =

Von 300 km sind 15 km =

Von 700 km sind 49 km =

Von 800 km sind 80 km =

Von 900 km sind 81 km =

Von 1.000 km sind 250 km =
Von 1.200 km sind 48 km =
Von 1.500 km sind 60 km =
Von 1.600 km sind 80 km =
Von 800 km sind 64 km =

Von 300 km sind 27 km =

Von 200 km sind 22 km =

Von 500 km sind 75 km =

Von 2.000 km sind 840 km =
Von 3.000 km sind 1.500 km =
Von 4.000 km sind 1.000 km =

Von 4.500 km sind 900 km =

2%

3%

5%

5%

7%

10 %

9 %

25 %

4 %

4 %

5%

8 %

9%

11 %

15 %

42 %

50 %

25 %

20 %



